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Identify the misspelled word in the list below:
A:-Exhilerate
B:-Conscientious
C:-Millennium
D:-Coruscating
Correct Answer:- Option-A

Identify the misspelled word in the list below:
A:-Manoeuvre
B:-Mediocre
C:-Embarass
D:-Diarrhoea
Correct Answer:- Option-C

Question 6:-Identify the word that has same meaning in the list given below:
FAIRNESS
A:-Lapse
B:-Equity
C:-Sagacity
D:-Creative
Correct Answer:- Option-B

Identify the word that has same meaning in the list given below:
ADROIT
A:-Wieldy
B:-Graceful
C:-Skilfull
D:-Stringent
Correct Answer:- Option-C

Identify the word that has same meaning in the list given below:
OPPOSITE
A:-Axiomatic
B:-Stupendous
C:-Antithetical
D:-Pique
Correct Answer:- Option-C

Identify the word that has same meaning in the list given below:
ADAPT
A:-Pander
B:-Accommodate



C:-Abrade
D:-Obliged
Correct Answer:- Option-B

Identify the word that has opposite meaning in the list given below:
MALICIOUS
A:-Destructive
B:-Benevolent
C:-Propensity
D:-Perpetrate
Correct Answer:- Option-B

Identify the word that has opposite meaning in the list given below:
LAUD
A:-Tribute
B:-Condemn
C:-Amalgamate
D:-Revive
Correct Answer:- Option-B

In the following question, each passage consists of six sentences. The first and the sixth
sentence (S1 and S6) are given in the beginning. The middle four sentences in each have been
removed and jumbled up. These are labeled as P, Q, R and S. You are required to find out the
proper sequence of the four sentences and mark accordingly on the answer sheet.

S1: The accident occurred in just a moment.
S6: The cyclist was thrown a few feet away.
P: The cyclist was blinded by a bullock cart moving in the opposite direction.
Q: The cyclist from the main road did not notice it.
R: The result was a head on collision.
S: A speeding car came from the side road

The proper sequence should be:
A:-PQSR
B:-SRPQ
C:-PRSQ
D:-SQPR
Correct Answer:- Option-D

S1: There are a number of bad habits which poor readers adopt.
S6: Young children and very poor readers often point a finger at each word in turn.
P: Of course, there must be vigorous mental activity.
Q: But extra body movements, such as pointing with the fingers or moving the lips, do not help
reading.



R: In efficient reading, the muscles of the eye should make the only external movement.
S: Most of these involve using extra body movement in the reading process.
The proper sequence should be:
A:-SRPQ
B:-PRSQ
C:-QRPS
D:-SQPR
Correct Answer:- Option-D

S1: In an ordinary power station we burn fuel to get heat.
S6: However, instead of getting heat by burning fuel, we get it from the nuclear reactor.
P: In a nuclear power station we burn water into steam and then use the steam in the same way.
Q: It is from the generator that we get electricity.
R: The steam is then made to turn a turbine and through the turbine a generator.
S: This heat turns water into steam.
The proper sequence should be:
A:-PRQS
B:-SQRP
C:-SRQP
D:-SPRQ
Correct Answer:- Option-C

S1: Metals are today being replaced by polymers in many applications.
S6: Many Indian Institutes of science and Technology run special programmes on polymer
science.
P: Above all, they are cheaper and easier to process making them a viable alternative to metals.
Q: Polymers are essentially long chains of hydrocarbon molecules.
R: Today polymers as strong as metals have been developed.
S: These have replaced the traditional chromium-plated metallic bumpers in cars.
The proper sequence should be:
A:-QRSP
B:-RSQP
C:-RQSP
D:-QRPS
Correct Answer:- Option-A

Convert the sentence given in the question into indirect speech.
Reema said, "I have been studying the whole day."
A:-Reema said that she had been studying the whole day.
B:-Reema said she was studying the whole day.
C:-Reema told him she was studying the whole day.
D:-Reema stated she has been studying the whole day.
Correct Answer:- Option-A



Convert the sentence given in the question into indirect speech.
"Run away, children quickly" said the teacher.
A:-The teacher asked the children if they ran away quickly.
B:-The teacher asked the children whether they could run away quickly.
C:-The teacher asked the children to run away quickly.
D:-The teacher asked the children to run away.
Correct Answer:- Option-C

Convert the sentence given in the question into indirect speech.
"It is an excellent essay." the teacher said.
A:-The teacher remarked that it had been an excellent essay.
B:-The teacher remarked that it has been an excellent essay.
C:-The teacher remarked that it is an excellent essay.
D:-The teacher remarked that it was an excellent essay.
Correct Answer:- Option-D

Convert the sentence given in the question into indirect speech.
The mother said to the son, "Why didn't you write to me often ? I was so worried."
A:-The mother asked the son why had he not written to her often and that she was so worried.
B:-The mother asked the son why had he not written to her often and that she had been so
worried.
C:-The mother asked the son why didn't he write to her often and that she was so worried.
D:-The mother asked the son why he had not written to her often and that she had been so
worried.
Correct Answer:- Option-D

A person who lives alone and avoids other people.
A:-Ascetic
B:-Recluse
C:-Iconoclast
D:-Agnostic
Correct Answer:- Option-B

A school boy who cuts classes frequently.
A:-Defeatist
B:-Sycophant
C:-Truant
D:-Martinet
Correct Answer:- Option-C

Read the following passage and answer the questions that follow.

Roshni remembers running all the way from her home to the room where the ‘Bal Samooh’
(children’s group) met. “My grandparents are getting me married, you have to do something,”



the then 12-year-old told the 20 or so children sitting there. The children, all aged between eight
and 16, trooped up to Roshni’s house and urged her grandparents to stop the impending
wedding. Others, including village elders and teachers, joined in. The wedding was stopped.
Later when she was 16 years, the pressure to get married returned. This time her uncle found a
match for her. When she resisted, she was taunted and beaten by villagers. Roshni, who lost
her father when she was two and had been abandoned by her mother shortly after. But even in
those dark moments, Roshni didn’t give up, moving out of the village to Peeplu tehsil in
Rajasthan where she rented a room and attended college. With education and independence
came a sense of confidence. “I kept in touch with the children in the village. Every time there
was child marriage, they would call me and I would go to stop it. So far she has stopped over a
dozen marriages. Even without the support of the law, young girls have been crusading against
the practice. Earlier this month, 19-year-old Sushila Bishnoi from Barmer succeeded in getting
her marriage annulled, submitting photographs, and congratulatory messages from her
husband’s Facebook account to the court. The court accepted these as evidence that the union
took place when both the bride and groom were 12 years old and declared the marriage invalid.
“I learnt that my life is mine. I have the power to say no to marriage.

1. The brides mentioned in the passage are rebels against:
A. The dowry system
B. Child marriage
C. Purdah system
D. Arranged marriage

Correct Answer:- Option-B

2. When Roshni was twelve years old, she succeeded in her mission with the help of:
A:-20 children aged between eight and sixteen
B:-Her grandparents
C:-20 children, her grandparents, village elders and teachers
D:-Children and an NGO
Correct Answer:- Option-C

3. When she was sixteen the people of the village …………………..
A:-Taunted her and beat her up
B:-Boycotted her
C:-Were angry with her
D:-Were sympathetic and understanding
Correct Answer:- Option-A

4. Roshni moved out of the village in order to:
A:-Seek a job
B:-Escape the villagers
C:-Attend college
D:-Marry a boy of her choice
Correct Answer:- Option-C



5. The word ‘Give up’ in the passage means:
A:-Stop attending classes
B:-Stop doing something
C:-Very eager
D:-Voluntary help
Correct Answer:- Option-B

Father is aged three times more than his son Sunil. After 8 years, he would be two and a half
times of Sunil's age. After further 8 years, how many times would he be of Sunil's age?
A:-5 times
B:-4 times
C:-3 times
D:-2 times
Correct Answer:- Option-D

P is able to do a piece of work in 15 days and Q can do the same work in 20 days. If they can
work together for 4 days, what is the fraction of work left?
A:-7/15
B:-11/15
C:-2/11
D:-8/15
Correct Answer:- Option-D

A man walking at the rate of 5 km/hr crosses a bridge in 15 minutes. What is the length of the
bridge (in metres)?
A:-1340 metres
B:-1320 metres
C:-1250 metres
D:-1280 metres
Correct Answer:- Option-C

If x and y are positive integers such that (3x+7y) is a multiple of 11, then which of the following
are divisible by 11?
A:-4x+6y
B:-4x-9y
C:-9x+4y
D:-X+y+4
Correct Answer:- Option-B

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together ?
A:-4
B:-10



C:-15
D:-16
Correct Answer:- Option-D
The greatest number of four digits which is divisible by 15, 25, 40 and 75 is:
A:-9000
B:-9400
C:-9600
D:-9800
Correct Answer:- Option-C

The least number which when divided by 5, 6, 7 and 8 leaves a remainder 3, but when divided
by 9 leaves no remainder is:
A:-1677
B:-1683
C:-2523
D:-3363
Correct Answer:- Option-B

An airplane covers a certain distance at a speed of 240 kmph in 5 hours. To cover the same
distance in 1 2/3 hours, it must travel at a speed of
A:-300 kmph
B:-360 kmph
C:-600 kmph
D:-720 kmph
Correct Answer:- Option-D

The percentage profit earned by selling an article for Rs. 1920 is equal to the percentage loss
incurred by selling the same article for Rs. 1280. At what price should the article be sold to
make 25% profit?
A:-Rs. 2000
B:-Rs. 2200
C:-Rs. 2400
D:-Rs. 3400
Correct Answer:- Option-A

A container contains 60 kg of milk. From this container 6 kg of milk was taken out and replaced
by water. This process was repeated further two times, the amount of milk left in the container is
A:-34.24 kg
B:-39.64 kg
C:-43.74 kg
D:-47.60 kg
Correct Answer:- Option-C



In a certain store, the profit is 320% of the cost. If the cost increases by 25% but the selling
price remains constant, approximately what percentage of the selling price is the profit?
A:-30%
B:-70%
C:-100%
D:-250%
Correct Answer:- Option-B

Identify the code word from the given alternatives.
In certain code languages HEART is written as BKLMP. The code word for NERVOUS will be:
A:-WLNTRID
B:-YIQOVBN
C:-WXOHVPM
D:-VKMSQHC
Correct Answer:- Option-D

Identify the code word from the given alternatives.
If QUICK is written as SOCCB in a code language, how will BREED be written?
A:-KPWYI
B:-MNYWK
C:-LOXXJ
D:-MPYYK
Correct Answer:- Option-B

Each of the questions below consists of a question followed by two statements numbered I and
II. You have to decide whether the data provided in the statements are sufficient to answer the
question.
Question: How much money do Vivek and Suman have together?
Statements:
I. Suman has 20 rupees less than what Tarun has.
II. Vivek has 30 rupees more than what Tarun has.
A:-If the data in the statement I alone is sufficient to determine the answer.
B:-If the data either in statement I alone or statement II alone are sufficient to determine the
answer.
C:-If the data in both the statements I and II together are insufficient to answer the question.
D:-If the data in both the statements I and II together are necessary to answer the question.
Correct Answer:- Option-C

In the question below is given a statement followed by two conclusions numbered I and II. You
have to assume everything in the statement to be true, then
consider the two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.
Statement:



Population increase coupled with depleting resources will be the concern of many developing
countries in days to come.
Conclusions:
I. The population of developing countries will not continue to increase in the future.
II. It will be very difficult for the governments of developing countries to provide their people with
a decent quality of life.
A:-If only conclusion I follows
B:-If only conclusion II follows
C:-If either I or II follows
D:-If neither I nor II follows
Correct Answer:- Option-B

Statement:
Our securities investments carry market risk. Consult your investment advisor or agent before
investing.
Conclusions:
I. One should not invest in securities.
II. The investment advisor calculates the market risk with certainty.
A:-If only conclusion I follows
B:-If only conclusion II follows
C:-If either I or II follows
D:-If neither I nor II follows
Correct Answer:- Option-B

Statement:
The meteorological department has issued a notification forecasting less rainfall during next
year's monsoon.
Courses of Action:
I. The government should immediately set up a water authority for proper management of water
resources.
II. The water supply authorities should be asked to implement reduction in regular water supply
to tackle the situation.
III. The farmers should be advised to cultivate alternate crops which require less water during
the coming months.
A:-Only I follow.
B:-Only I and II follow.
C:-Only III follows.
D:-Only II and III follows.
Correct Answer:- Option-B

Who launched the initiative of Fit India Youth Clubs to promote fitness among every citizen?
A:-Rajnath Singh
B:-Nitin Gadkari
C:-Kiren Rijiju



D:-None of these
Correct Answer:- Option-C

Which course will be discontinued as per National Education Policy (NEP) 2020?
A:-M. Com
B:-M. Ed
C:-M. Phil
D:-MBA
Correct Answer:- Option-C

Which company partnered with National Skill Development Corporation to offer a free digital
education platform for skill development?
A:-Google
B:-IBM
C:-Microsoft
D:-Samsung
Correct Answer:- Option-B

Which nation developed the World's Largest Solar Tree?
A:-USA
B:-India
C:-Russia
D:-None of these
Correct Answer:- Option-B

A new initiative titled ‘Food Bank’ was launched in which Indian state to provide free food to the
poor and needy, amidst the lockdown due to COVID
pandemic?
A:-Assam
B:-Kerala
C:-Manipur
D:-Odisha
Correct Answer:- Option-C

Chak Hao, a variety of black rice, that recently bagged the Geographical Indication (GI) tag, is
found in which state?
A:-Assam
B:-Sikkim
C:-Manipur
D:-Arunachal Pradesh
Correct Answer:- Option-C


